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General Knowledge |

Which  freedom  fighter from

Chhattisgarh actively participated

in the Indian independence

movement?

(A) Lala Lajpat Rai

(B) Shaheed Veer Narayan Singh

(C) Bhagat Singh

(D) Sarojini Naidu

What is the forested area of Chhat-

tisgarh?

(A) 40.85

(B) 35.01

(C) 44.21

(D) 38.01

Which National Park in Chhattisgarh

is known for its population of wild

buffalo (Bison)?

(A) Kanger Valley National Park

(B) Barnawapara Wildlife Sanctu-
ary

(C) Indravati National Park

(D) Guru Ghasidas National Park

AUUGCET\2024\A
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1.

TG & b Wdzar QT 3 9RO

YT 3TaIe # Wi T ¥ 9w foran|
(A) TG ATSTId I

(B) ¥rEIE 4R IRm™vT Rig

(C) wia Rig

(D) RS g
BARTIG & I Y BT &P

(A) 40.85

(B) 35.01

(C) 44.21

(D) 38.01

BRINTTG # T8 e Ui fory 370 SHTett
A (ST & fefe ST ST &?

(A) PR e FeHA UIh

(B) SREIGURT =ISNd 3IRUY
(C) Zgradl ITFd Uih
(D) T& URIG ¥Hd Ulh

P.T.O.



4. Among the following tribes, which 4 fr=afaReg snfaal § ¥ s & PTG

one is considered as PTG (Primitive (e anfearht Tg) & w9 ¥ A ST
Tribal Group) of Chhattisgarh? qretl STf B 41 8?
(A) Baiga (A) srgm
(B) Kanwar (B) HaR
(C) Halwa (C) @aeidr
(D) Gond (D) Tiis
5.  Which monument is also known as 5. @ A1 WR& ‘ST TSl & &7 § Y
the “Black Pagoda”? ST STl &7
(A) Sun Temple, Konark (A) I AR, PHTH
(B) Brihadeeswara Temple (B) "g’gé’f"d?ﬂﬁﬂ
(C) Meenakshi Temple (C) HHmel Aiex
(D) Somnath Temple (D) AT Hiex
6. Which Indian state is known as the g 9Rag & 59 I B “URT BT AT
“Spice Garden of India”? A" el STaT &7
(A) Kerala (A) oA
(B) Karnataka (B) s
(C) Tamil Nadu (C) dfhemTg
(D) Andhra Pradesh (D) 31T e

7. Which city is known as the pink city 7. ﬂlifaair[]c‘*’llé TeR 59T 9TeR BT BaT ST

of India? &7

(A) Udaipur (A) 3&ITR
(B) Jaipur (B) SR
(C) Jodhpur (C) a‘ra—gw
(D) Ajmer (D) 3R
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10.

Who was the first Indian to win a
Nobel Prize?

(A) C. V. Raman

(B) Rabindranath Tagore

(C) Mother Teresa

(D) Amartya Sen

Which traditional craft of Chhat-
tisgarh involves the creation of
bell-metal and brass items, often
used for religious purpose?

(A) Dhokra

(B) Bidri

(C) Papier-mache

(D) Terracotta

Which famous temple in Chhattis-
garh is dedicated to the Goddess
Danteshwari and is a significant pil-
grimage site?

(A) Bhoramdeo temple

(B) Danteshwari temple

(C) Champaran temple

(D) Rajiv Lochan temple

AUUGCET\2024\A
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8.

10.

TEd YR @R A O e AN
RIBR i 1P

(A) Wray. 7=

(B) digTer SR

(C) AR

(D) 3 A

BTG & B A TRuRS Riew & der-

ATeT 3caTed @l Sl &, fordt 3R et
Fraf & fore sxme fosar S &2

(A) QT

(B) foxy

(C) uUftR-72I

(D) CRIPIET

BArTE W B 1 Ui HfeR adl dasat
@ Tuftfd & 31k g8 v Aeayut drefera
&7

(A) HRFCE AR

(B) TR AR

(C) TuROT Afex

(D) X579 @A Hfex

P.T.O.



11. Which river is known as the lifeline {1, wiigg & Siad @1 & &7 | ST 5T

of Chhattisgarh? JIE e G =d e
(A) Ganga (A) T

(B) Narmada (B) e

(C) Mahanadi (C) wWerd

(D) Godavari (D) TheraRY

12. Which temple is also known as 1o gﬁwﬁ"mmw"$wﬁ

“Khajuraho of Chhattisgarh?” O ST ST &, i 7 Jfer @2
(A) Madan Kamdev Temple (A) ¥HeT HHed Hiex

(B) Bhoramdev (B) ¥RAeq Afex

(C) Cherki Mahal (C) R T&d

(D) Mandwa Mabhal (D) #sdl HEcl

13. Guru Ghasidas was born in the year? 13 ﬂgq@mmmaﬁwm?

(A) 1756 (A) 1756
(B) 1763 (B) 1763
(C) 1772 (C) 1772
(D) 1775 (D) 1775
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14. Which tribal community is predomi- 14

15.

16.

AUUGCET\2024\A

nantly found in Chhattisgarh?
(A) Bhil

(B) Gond

(C) Khasi

(D) Santhal

Which
Chhattisgarh?
(A) Sambar
(B) Bafauri
Dal baati

(©)

(D) Dhokla

Which ancient city in Chhattisgarh 45

is known for its archaeological sig-

nificance?

Nalanda

(A)

(B) Ujjain

(C) Sirpur

(D)

Hampi

[7]

is the traditional food of 15

O H 3fYeaR RN SN el

ST TR B & &7
(A) 4a

(B) Tiis

(C) @i

(D) HuA

BTG T TRURS HIoH a1 27

(A) IR

(B) BRI

(C) aIa aet

(D) @rder

BARAIG | B A1 I IeR [RIdTcad
& & foTe ST ST &9

(A) HTeraT

(B) 3o

(C) RRR

(D) &=

P.T.O.



17. Which dance form of Chhattisgarhis 17, wxiryrg &1 o a1 F7 W0 & fqargl &

performed during marriages? S e B =
(A) Panthi (A) ol

(B) Pandwani (B) G=ar

(C) Raut Nacha (C) <13 AT

(D) Karma (D) @

18. Which craft is Chhattisgarh particu- 18, wxigwg & foe foow w0 @ ufag &= @

larly known for? f3re 22

(A) Pottery (A) PERI
(B) Wood carving (B) cIdel BIfaT
(C) Terracotta (C) CRIPICT
(D) Bamboo craft (D) §F el

19. The Chhattisgarh Brotherhood as- 19, wxiNTIe WETRT 9Y fooa =T 27?

sociation was formed by-

(A) ferarst wivrer
(A) Bimbaji Bhonsle

(B) dR ARwor g
(B) Vir Narain Singh

(C) g g
(C) Khub Chand Baghel i
(D) Ghasidas (D) GrilCT

AUUGCET\2024\A [8]



20. The first Akashwani relay center of oq.

21.

22.

AUUGCET\2024\A

the Chhattisgarh state was estab-
lished at :

(A) Ambikapur

(B) Durg

(C) Raipur

(D) Korba

The first film of Chhatisgarh state, 21.

made on folk language was:
(A) Bhakla

(B) Mayaa

(C) Kahi Debe Sandesh

(D) Mor Chaiyaa Bhuiyaa

Who is the current Vice Chancellor 22,

of Atal Bihari Vajpayee University in
Bilaspur, Chhattisgarh?

(A) Dr.R. S. Sharma

(B) Prof. Ramesh Kumar Pandey
(C) Prof. A. D. N. Bajpai

(D) Dr. Sanjeev Sanghi

[9]

BURG I5T HT Uel 3HrREmn Rel
Hex wat wenfud fosar war ar?

(A) sifeerR

(B) gi

(C) R

(D) ®RET

BUIRIIG 54 Bl Uged! [hed, Tl HINT IR
g1 1P

(A) wTdBe

(B) A

(C) el ad Haw

(D) #R Bar Yz

BUIRITG & 3Teet faaRT Tt fasafaanera,

fyemR & ada™ gefa dF &7
(A) i 3IR. T, I

(B) HI. IHY HAR Ui

(C) WI. © . v, SIS

(D) &T. Talig e

P.T.O.



23. Which city is famous for the “Kosa” 23 “@Nr" Ug=Tar 3800 & o 39 97 o=

wearing industry? g &?
(A) Champa (A) Tar
(B) Pamgarh (B) UTHIG
(C) Dhabara (C) &1
(D) Nawagarh (D) dIe

24. What are the first few words of 24, 3rcet fagRY arondt fasafeerera, faamagR

& Peniia & U PO IR a1 67
(A) Teamar ¥ feeaar fiesafeamea
(B) WER AR 31d gz, Ig \drqan

kulgeet of Atal Bihari Vajpayee
University in Bilaspur, Chhattisgarh?
(A) Toemar 9 foean fosafamea

(B) HER FHIER 3Tid gax, I§ Hafqa

BN ITSTE

DI IS
(C) 3a-31@ T84 §HRT 39 319 Aid dI (C) I1d-3@ 94 EURT 39 & 91 B
4 YUTd BHRT $9 Y IRIR @Y da JUTd EHRT §9 PH TRIR B
(D) g PR <al, §H & ORI (D) g TR aal, 59 B ORI
&1 T 2 H TWE &
25. “Hasdo” is a tributary of : 25. “grNer’ fog T &1 3uar 87
(A) Godavari
(A) TherE)
B) Mahanadi
(B) Mahanadi (B)
(C) Narmada ©) T
(D) Indravati (D) Fgd

AUUGCET\2024\A [10]



26.

27.

28.

29.

AUUGCET\2024\A

| Reasoning

C is the mother of A and B. If D is 26,

the husband of B, then who is C of
D?

(A) Mother

(B) Sister

(C) Mother-in-law

(D) Aunt

Virus : Smallpox :: Bacteria : ? 27.
(A) Sleeping sickness

(B) Malaria

(C) Typhoid

(D) Younger mother

If David’s age is 27 years old in 28.
2011. What was his age in 20037

(A) 17 years

(B) 37 years

(C) 20 years

(D) 19 years

How many meaningful English 29.
words can be made using each let-

ter of the alphabet ACER once?

(A) 1

(B) 2

() 3

(D) More than 3

[11]

C, A 3R B @I Aram &1 afc D, B &7 Ufd
garc, D& B E?

(A) Hrr

(B) &

(C) 9=

(D) e

faeTo] : I9 :: Shamy : P

(A) FeRm

(B) weiRam

(C) TERIE

(D) BreHmEr

afe 2011 # 2fde & 37 27 af &1 2003 H
D! 3G T AP

(A) 17 a8

(B) 37 a9

(C) 20Ty

(D) 19 au

31&RT ACER H 9 &R 37&R &I Uh-Udh TR
JANT AR 8P 3s & fobae 3riqul ore
§IE 5T Fabdt &2

(A) 1

(B) 2

(C) 3

(D) 3 ¥ 31t

P.T.O.



30.

31.

32.

AUUGCET\2024\A

In a row of children facing north, 3q.

Ritesh is twelfth from the left end.
Sudhir who is twenty-second from
the right end, fourth to the right
from Ritesh, how many children are
there in total in the row?

(A) 35

(B) 36

(C) 37

(D) 34

In a certain code, RAIL is written as  31.

5796 and TAPE is written as 3748,
how is PAIR written in that code?
(A) 4795

(B) 4785

(C) 3795

(D) 8795

Three of the following four are alike  32.

in some way and hence form a
group, which one does not come in
this group?

(A) Rose

(B) Lotus

(C) Jasmine

(D) Marigold

[12]

sicinge s v db A Rae
a6 BR 2 arEa &1 AR 3 aw OR D
ar$war &, Rever & v @1 dten 2, dfts &
o foa aoa &

(A) 35

(B) 36

(C) 37

(D) 34

U @N B8 § RAIL ®T 5796 forar S
& 3R TAPE @I 3748 forar an 2, 39
@15 H PAIR @I 9 forar Trar &7

(A) 4795

(B) 4785

(C) 3795

(D) 8795

frfafed ar & A9 ol TR a9+ €

SHICTE 39®T U g S &, 98 TP P
18 3§ FHg S 1 89

(A) T

(B) At

(C) THe

(D) Ter



33.

34.

35.

AUUGCET\2024\A

If 5th February of any year is Friday,
then what day will it be on 10th Au-
gust of the same year?

(A)
(B)
(©)
(D)

Friday

Wednesday or Tuesday
Monday

Saturday or Sunday

If green means red, red means yel-
low, yellow means blue, blue means
orange, then tell what the color of a
clear sky looks like?

(A) Orange

(B) Green

(C) Yellow

(D) Red

If it is possible to make a meaning-
ful English word by combining the
second, fifth, sixth and tenth letters
of STREAMLINE, then what will be
the third letter of that word?

(A) T

(B) E

(C) M

(D) A

33.

34.

35.

[13]

I fo=lt o 5 TRAXI BT YHaR &, ar
3y 10 3ARA B HIH-41 fo gme

(A) ThaR

(B) FUAR AT AR

(C) ¥R

(D) wf+aR a1 Ifdar

afe &1 & 31 @, o @ 3rf gie,
o &1 v e, e &1 3ref AR @,
Y §ATSU TaTE MBI & 7 b fexarg
& 2

(A) TR

(B) &1

(C) Qe

(D) @

afg STREAMLINE & ¥R, Ufdd, B3 3R
TId 31eRT B e o P Gl 3
Y& ST TG &1, o 39 & BT AT
&R FT 1P

(A) T

(B) E

(C) M

(D) A

P.T.O.



36.

37.

38.

AUUGCET\2024\A

In a birthday party, 5 friends are

sitting in a row. M is to the left of

O and to the right of P. S is to the

right of T but left of P. Who is sitting

in the centre?

(A) M

(B) P

(C) O

(D) S

Geeta is more beautiful than Sita

but not as beautiful as Rita, then?

(A) Sita is more beautiful than Rita

(B) Sita is not as beautiful as Gee-
ta

(C) Geeta is more beautiful than
Rita

(D) Rita is not as beautiful as Gee-
ta

Pointing to a woman, Simon said,

she is the daughter of my father’s

only sister. How is that woman

related to Simon?

(A) Mother

(B) Cousin sister

(C) Sister

(D) Aunt

[14]

36.

37.

38.

Ue 50 fad uret #, 5 i v ufkd 9
EIMOFTEIRPHALIREIS, T
& arg 3R fbeg P & @ 3R o1 &,
d B dor 8°

(A) M

(B) P

(C) O

(D) S

e, ar ¥ e gex @ afes Jar

fore Tt grex &Y &, e

(A) e, I F e Y &
(B) e, T fafa e & &
(C) T, I & saTeT YR &
(D) e, T foa gex & &

U HiEe & 3R Tobd B gT AIgHT o
®ET, a8 R a1 o vhHTs g6 o g &

Ig afge i 9 fog yeR Tefera 27
(A) T

(B) I T

(C) &§&q

(D) qarm



39. Sonia left her house and went 4 km
towards east. Then she turned left
and walked 6 km, then she turned
right and walked 4 km, how far is
she from the starting point?

(A) 10 Km
(B) 14 Km
(C) 8 Km
(D) 5Km

40. Number of clock strikes in 12 hours?
(A) 12 Times
(B) 100 Times
(C) 78 Times
(D) 23 Times

41. The clock seen in the mirror shows
a quarter to three o’clock, what is
the correct time in the clock?

(A) 8.45
(B) 3.45
(C) 6.45

(D) 9.45

AUUGCET\2024\A

39.

40.

41.

[15]

i s R F genr 3R 4 R g
@I 3R TS| I9 98 a1 gAr 3R 6 foH.
Tell, fosR o att gt 3R 4 foedt, aen, ag
TR I & e 1w E?

(A) 10 foa,

(B) 14 .

(C) 8 fopm.

(D) 5 T

12 9¢ H Ul & g P! I=AT?

(A) 128R

(B) 100 aR

(C) 78 8R

(D) 23§R

gUur # 3 TS "SI a1 O g1 BT GHT
feramett &, w8t & TR wHa 7@ &2

(A) 8.45

(B) 3.45

(C) 6.45

(D) 9.45

P.T.O.



42. Which word does not belong with

the others?

(A) Apple

(B) Banana

(C) Mango

(D) Carrot

43, If all the letters in the word ‘STUDY"

are arranged in alphabetical order,

which letter will be in the middle?

(A) D

(B) S

T

(D) U

44, What will be next of this -

FAG, GAF, HAI, IAH,

(A) JAK

(B) HAL

(C) HAK

(D) JAI

AUUGCET\2024\A

[16]

42.

43.

44,

B T I TIRT B AT TEl 2P
(A) 39
(B) bl
(C) 3m
(D) TSR

g 9T "STUDY' & AT 31&RT PI JUIHTAT
B9 ¥ Fafed fHar Jar &, @ o
3eR dra § grme

(A) D

(B) S

(ORI

(D) U

29 IRV BT 3WTeT T BN -

FAG, GAF, HAI, IAH, __

(A) JAK

(B) HAL

(C) HAK

(D) JAI



45.

46.

47.

AUUGCET\2024\A

In a top secret message, if LIVING
is coded as KGSHLD. How will BUD-
DHA be coded?

(A) ATEEIB

(B) ATACFX

(C) ATCCGz

(D) KGSHLD

Smith said, “Lilly is wife of the grand-
son of my sister’s mother”. How is
Smith related to Lilly?

(A) Father

(B) Father-in-law

(C) Brother-in-law

(D) Grand Father

Find the Mirror Image of Figure giv-

en below:
S

N
M

g

E!J

(A)
(B)

ﬁg

(©)

0

(D)

45,

46.

47.

[17]

UHh Y @ Heer H, afd LIVING @i
KGSHLD & w0 ¥ ®ifsa foar mar 2l
BUDDHA &I &1 Heds [l STE?

(A) ATEEIB

(B) ATACFX

(C) ATCCGZ

(D) KGSHLD

ferer 3 e, “forel A 989 & A7 & a
@ gt 81 R forelt 3 fovw yaR waifera
&7

(A) foar

(B) IR

(C) Sitam

(D) @

SIE IR R s i L R S S S
-

PN

Hin

(A)
(B)

\0 o\

ﬁg

(®)

0

(D)

P.T.O.



48. Which of the following figure repre-

sent village, district, state.

" OOO

@ (JO

(©) @

49. A man walking towards north, after

walking 100m he turns right and
walk 75m again he turns right and
walk 100 m and last movement he
turns left and walk 25m, now which
direction he is walking?
(A) South-West
(B) East
(C) North
(D) North-East

50. LJH : KKI:: CIA:?
(A) DBB
(B) BIB
(C) CBZ
(D) BBZ

AUUGCET\2024\A [18]

48.

49.

50.

frefeReaa & & P9 I sl i, e,
5T @ egifdr &?

“ OOO

@ (JO

(©) @)

e 3MTeHT 3R {2 &1 3R a1 @1 &1 100
ex e P de 98 &MU gl & 3R 75
HieR Fetem 21 98 fhR 2 Haar 2 3R 100
Wex gadm &1 3Rl aR 97 a1v gadr &
3R 25 Hex Tt 81 319 a8 fops faem
T JET &?

(A) cféror-ufsgs

(B) @

(C) &KX

(D) SR

LJH : KKI :: CIA : ?

(A) DBB

(B) BIB

(C) CBZ

(D) BBZ



51.

52.

53.

AUUGCET\2024\A

General Computer Knowledge

Which type of memory hierarchy
typically has the fastest access
speed?

(A)
(B)
(9)
(D)
What

Cache memory

RAM

Hard disk

Optical disk

is the difference between

HTTP and HTTPS?

(A) HTTP is more secure than
HTTPS.

(B) HTTP uses port 80, while HTTPS

uses port 443.

(C) HTTPS encrypts data transmit-

ted over the network, while

HTTP does not.

(D) HTTP is faster for large file

downloads compared to HTTPS.

Which of the following is NOT a type

of cloud computing service model?

(A) IaaS (Infrastructure as a Ser-

vice)

(B)

(©)

(D)

SaaS (Software as a Service)
PaaS (Platform as a Service)

LAN (Local Area Network)

51.

52.

53.

[19]

fhd PR &I HER! TEHHA H AR W)

[E™ st UEd T & &

(A) &= HERY

(B) 9

(C) e fsp

(D) 3 ¥

HTTP td HTTPS ¥ &7 3icR &7

(A) HTTP, HTTPS ¥ 3iftre gRféra &

(B) HTTP Ui 80 T YN BTl & STaich
HTTPS UI¢ 443 T UGN HRAT &

(C) HTTPS Scad W yOIiRd a1 &l

ofehe BRaT & STafs HTTP U=m =1&
GG

(D) HTTPS &I g+ § HTTP §8! BB

S3AE & ford a7 &
FfaRea & & 1 Alsd HgfcT Il
&I U TR &l &-
(A) IaaS (Infrastructure as a

Service)
(B) SaaS (Software as a Service)

(C) PaaS (Platform as a Service)

(D) LAN (Local Area Network)

P.T.O.



54. What is the role of a compiler in
programming?
(A) To execute the program
(B) To translate source code into

machine code
(C) To debug the program
(D) To store variables during pro-
gram execution

55. Which type of attack aims to over-
load a network or server with ex-
cessive traffic to disrupt normal op-
eration?
(A) Phishing attack
(B) DoS (Denial of Service) attack
(C) SQL injection attack
(D) Man-in-the-middle attack

56. Which type of attack involves trick-
ing users into providing sensitive
information such as passwords or
credit card numbers?
(A) DDoS attack
(B) Trojan horse
(C) Phishing attack

(D) Firewall breach

AUUGCET\2024\A
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54.

55.

56.

st & burger B aar YT 8-

(A) e 31 Fenfea a=ar

(B) 9N P @ WM P § 3FaR
BT

(C) W &1 fEa B

(D) v e & fav aRIsa &1
ufed &

fohd TBR & &1 BT I AT HATe

@I T B & fo1d TS e arel

TR B 3NaRells HRAT 8-

(A) TR gxer

(B) DoS (¥d1 ¥ TBR)

(C) ©H.99.0A. $o0eH 3D

(D) ¥4 g ffset ada

f5sT TR & gH | IUANIHTT P UGS

1 hise HTS SR FAeTeNe TR Y&

B} & fordr e o et gl

(A) DDoS &Hell

(B) giot g

(C) ToBfRAT Exer

(D) WRRATA 3ceig



57.

58.

59.
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What does the acronym SQL stand

for in the context of databases?

(A) Structured Query Language

(B) System Query Language

(C) Simple Query Language

(D) Script Query Language

Which of the following is NOT a type

of computer network?

(A) LAN (Local Area Network)

(B) WAN (Wide Area Network)

(C) MAN (Metropolitan Area Net-
work)

(D) USB (Universal Serial Bus)

Which programming language is

often used for artificial intelligence

and machine learning applications?

(A) C++

(B) Python

(C) Java

(D) Ruby

57.

58.

59.

[21]

SQL &1 T A1 F4T &-
(A) Structured Query Language
(B) System Query Language

(C) Simple Query Language

(D) Script Query Language

frfaled & & B9 FrgeR & IR T8
8-
(A) LAN (Local Area Network)

(B) WAN (Wide Area Network)

(C) MAN (Metropolitan Area Net-
work)

(D)
P g v Wl @t & srgrmt
& fow sowR 5w &1 3w fosar

USB (Universal Serial Bus)

ST &-

(A) C++
(B) Python
(C) Java

(D) Ruby

P.T.O.



60. What is the purpose of a DNS (Do-

61.

62.

AUUGCET\2024\A

main Name System) in computer
networks?

(A) To encrypt data transmissions
(B) To route network traffic
(C) To translate domain names
into IP addresses

(D) To secure email communica-
tions

Which type of computer memory
is volatile and loses its data when
power is turned off?

(A) RAM

(B) ROM

(C) Cache

(D) Hard disk

Which file format is commonly used
for compressing a group of files into
a single archive file?

(A) .exe

(B) .zip

(C) .txt

(D) .ipg

[22]

60.

61.

62.

R "cdd H DNS (Domain Name

System) T 3UANT T &7

(A) T CRIRE & §ipe B & ford
(B) cdd ¢fthdh Pl IC PR & ferd
(C) S =9 &I 35Ul U H 3aTE BT

(D) BT HaR GRI @< 3 R

foodr TBR B Brgex FERT 3ReR el &
3R fastelt dg @ TR 31T ST @ At @-
(A) W

(B) W

(C) =T HERY

(D) & fsp

FrafeRaa 7 @ o9 a1 wgd wrfe, fafiem
BIged & YU Pl Uh BIgel H compress
&Ra &

(A) .exe

(B) .zip

(C) .txt

(D) .ipg



63.

64.

65.
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What is the primary function of a

GPU (Graphics Processing Unit) in a

computer system?

(A) To execute operating system
commands

(B) To process graphical data and
render images

(C) To store temporary data during
program execution

(D) To manage network connec-
tions

Which type of software is used to

create and manage databases?

(A)

(B)

Spreadsheet software
Database management system
(DBMS)

(C) Presentation software
(D) Word processor

In which layer of the OSI model do
routers operate?

(A) Application layer

(B) Transport layer

(C) Network layer

(D) Data link layer

63.

64.

65.

[23]

FeR Ren # GPU (wfteaser iR

gie) BT mafis Brf 8-

(A) 3mRfET e wuig Fremfea @A

(B) wfthepeT SeT I Tafeid &= vd
Bl Bl IR BAT

(C) v e & SRT 3R ger
ufed & & o

(D) Scad HIdeH YETea B & o1

SCIe & & fordl v wafera oA & ford
fohet TR &1 39T fosam ST &

(A)
(B)

Spreadsheet software
Database management system
(DBMS)

Presentation software

(C)

(D) Word processor

OSI Tsd & 6 AR # U3 BRI Bl
8-

(A) Application layer

(B) Transport layer

(C) Network layer

(D) Data link layer
P.T.O.



66.

67.

68.

69.
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What does the term “"GUI"” stand for gg.

in computing?

(A) Graphical User Interface
(B) General Utility Interface
(C) Global User Interaction

(D) Grouped User Integration

Which programming paradigm fo- 67,

cuses on grouping data and opera-
tions into objects that interact with
each other?

(A)
(B)
(©)
(D)

Functional programming
Procedural programming
Object-oriented programming

Declarative programming

Which protocol is used to retrieve 68.

email from a mail server to a client
device?

(A) SMTP

(B) POP3

(C) FTP

(D) HTTP

Which of the following is NOT a fea- g9,

ture of cloud computing?
(A) Scalability

(B) Virtualization

(C) Physical storage
(D) On-demand service

[24]

ST | “GUI” &I IRT 19 T &2
(A) Graphical User Interface

(B) General Utility Interface

(C) Global User Interaction

(D) Grouped User Integration

B 1 SRt RIS 3T vd 3MReH @

U TR & 1Y §exac B dlel Jesiae H

TP PR &-

(A) Functional programming

(B) Procedural programming
(C) Object-oriented programming
(D) Declarative programming

7 IR A Foge By W §9a g I
&R & ferd g dietarer &1 3w fbar
ST -

(A) SMTP

(B) POP3

(C) FTP

(D) HTTP

fr=fafed & o 3 Fo8s FRgfeT @
fereTeraT =& &-

(A) Scalability

(B) Virtualization

(C) Physical storage

(D) On-demand service



70. Which type of software license al-

71.

72.

lows users to freely use, modify,
and distribute the software?

(A) Proprietary license

(B) Closed-source license

(C) Open-source license

(D) End-user license

What is the purpose of a DNSSEC
(Domain Name System Security Ex-
tensions) in computer networks?

(A)
(B)

To encrypt DNS queries

To prevent DNS cache poison-
ing attacks

(C) To increase DNS server perfor-
mance

(D) To monitor network traffic
What is the name of the high-perfor-
mance computing chip announced

by Google in 2021, specifically de-

signed for Al and machine learning

tasks?
(A) Tensor Processing Unit (TPU)
(B) Neural Engine
(C) Vision Processing Unit (VPU)
(D) Quantum Processing Unit
(QPU)
AUUGCET\2024\A

70.

71.

72.
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o PR BT AT AR ATGHH JYARTHIA
&I HIFCIIR BT T3 B J YT, Feer
3R freRor o R e &

(A) Proprietary license

(B) Closed-source license

(C) Open-source license

(D) End-user license

HFGeX wcdd H DNSSEC (Domain

Name System Security Extensions)

T TN 327D &

(A) DNS Queries @ 3APE A &
forx

(B) DNS cache poisoning attack &I
AH & o

(C) DNS Server & WHRT M &
fora

(D) Traffic & AT A P ford

2021 ¥ 1T R OIS Joa1 Jawi= drgfe
faa @1 = @ & o faely w9 & AL Td
e @ & Hraf & o e faman
T gl

(A) Tensor Processing Unit (TPU)
(B) Neural Engine

(C) Vision Processing Unit (VPU)
(D) Quantum

Processing Unit

(QPU)

P.T.O.



73.

74.

75.
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In 2021, which popular social me-
dia platform was involved in contro-
versy over its algorithms and their
impact on mental health, especially
among teenagers?
(A) Twitter

(B) Instagram
(C) Facebook

(D) Tik Tok
Which Al-based language model
developed by Open Al was released
in November 2022 and became
notable for its conversational
abilities?

(A) GPT-2

(B) GPT-3

(C) GPT-4

(D) GPT-5

In 2021, which social media compa-
ny rebranded itself as Meta, signal-
ing a shift towards the development
of the metaverse?

(A) Twitter

(B) Facebook

(C) Linkedin

(D) Snapchat

[26]

73.

74.

75.

2021 ® ®F A ABNT AR AifsdT
TchM 30 TEiRed wd foRw w9 &
foReIRT & dha AMNI® TR W I Bl
i faare ol

(A) Twitter

(B) Instagram

(C) Facebook

(D) Tik Tok

Open Al gRT fd®fad @ w1 wsa
TawR 2022 # SR fbar mam a1 3R 31T
HaETHS &Fars & for 3eoieHa &=
|

(A) GPT-2

(B) GPT-3

(C) GPT-4

(D) GPT-5

2021 ¥ fovsr et Mifear Bl 3 Aerad
& famra o faem & geema & ddd ad g
Ya & Meta & 0 H G: 578 foan|

(A) Twitter

(B) Facebook

(C) Linkedin

(D) Snapchat



| English Language |

76. Identify the correct form of the 79. Pick the correct article :

verb: “The Sun in the east”. “Heis___ honest man.”
(A) rise (A) a
(B) rises (B) an
C) the
(C) risen (€)
(D) none
(D) rising

80. Identify the correct tense:
77. Choose the correct preposition :

“By next year, I my degree.”
“He is good playing tennis.”
(A) complete
(A) in
(B) completed
(B) at
(C) will complete
(C) with
(D) will have completed
(D) on

81. Choose the correct conjunction :

78. Select the correct word :

“He was tired he continued
“Sheis _____ than her brother.” "
to work.
(A) tall (A) but
(B) taller (B) and
(C) tallest (C) so
(D) more tall (D) because

AUUGCET\2024\A [271 P.T.O.



82.

83.

84.
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Select the correct pronoun: 85.

“Neither of the boys did
homework.”

(A) his

(B) their

(C) theirs

86.

(D) them

Pick the correct form of the adjec-
tive:

“She is the __ student in the
class.”

(A)

intelligent

87.

(B) more intelligent

(C) most intelligent

(D) intelligenter

Identify the correct sentence:

(A) He don't know the answer.
(B) He doesn’t knows the answer.
(C) He doesn’t know the answer.

(D) He don't knows the answer.

[28]

Choose the correct spelling:

(A) Necessery

(B) Neccessary

(C) Necessarry

(D) Necessary

Select the correct idiom :

“To spill the beans” means:

(A) To clean up

(B) To reveal a secret

(C) To cook dinner

(D) To plant seeds

Choose the correct passive voice:
“The chef cooks the meal.”

(A) The mealis cooked by the chef.
(B) The meal was cooked by the
chef.

(C) The meal is cooking by the
chef.

(D) The meal cooked by the chef.



88.

89.

90.

Pick the correct synonym:

“Enormous” means:

(A) tiny

(B) huge

(C) small

(D) weak

Identify the antonym :

“The opposite of ‘brave’ is:

(A) bold

(B) timid

(C) fearless

(D) courageous

Choose the correct question tag:

“She can swim well,

(A) can she

(B) can’t she

(C) does she

(D) doesn’t she

AUUGCET\2024\A

91.

92.

93.

[29]

Select the correct form :

“IfI___ abird, I would fly.”

(A) am

(B) was

(C) were

(D) will be

Pick the correct phrase :

“She passed the exam her
hard work.”

(A) because

(B) due to

(C) despite

(D) since

Identify the correct noun form :
“The ____ of the situation was
serious.”

(A) critical

(B) critique

(C) critic

(D) criticality

P.T.O.



94. Choose the correct word : 97.
“He is known for his ___ deci-
sions”.

(A) wisdom
(B) wise
(C) wisely

98.

(D) wisest

95. Select the correct prepositional
phrase:
“He walked __ the park.”
(A) through
(B) into 59,
(C) on
(D) in

96. Pick the correct form of the verb:

“They the movie last night.”

(A) watch 100.

(B) watched

(C) watches

(D) watching
AUUGCET\2024\A [30]

Identify the correct adjective :

“He isthe _ man in the room.”
(A) tall

(B) taller

(C) tallest

(D) most tall

Choose the correct relative pronoun
“The book __ T borrowed was
interesting”.

(A) who

(B) which

(C) whom

(D) whose

Select the correct collocation:

“He made a decision.”

(A) quick

(B) fast

(C) rapidly

(D) swift

Pick the correct sentence:

(A) She is reading a book now.

(B) She read a book now.

(C) She reads a book now.

(D) She reading a book now.



Rough Work
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INSTRUCTIONS FOR MARKING THE
ANSWERS IN THE OMR ANSWER SHEET

1. Preferably use Black/Blue Ball Point Pen.

2. Darken the circle very carefully, because
there is no scope for rectification after-
wards.

3. Each objective type question has 4 (four)
alternatives (A), (B), (C) and (D). In any
case one and only one alternative will be
the correct answer. Choose the right al-
ternative and darken the appropriate cir-
cle in the OMR answer sheet in front of

the related question.

4. If you darken more than one circle in
front of any question in your OMR Sheet,
your answer will be treated as wrong.

5. In OMR answer sheet you must fill up all
other required informations and for this
you must darken the appropriate circle.
Do this very carefully.

6. Your answer sheet will not be evaluated
if you fail to fill up the required circles
correctly as per given directions.

7. Do not fold OMR answer sheet and do not
make any stray marks on it, otherwise it
won't be possible to evaluate it.

8. Do not make any stray mark and do not
write your roll number or name except
in the space provided for the purpose,
otherwise your examination will be can-
celled.

9. The right method to darken the circle to
answer the objective type questions in
OMR sheet is as shown below :

Right method : @ ‘ @ @



